Quadratic equation

Sum and product of roots

(AT &T A3 TT I




2 2 2
8“1b= (A+h)-dab
R
RA+b = %
(@+b)= 3 (@th)

L 1
w45 = (@36 (@ 6) — 26 (a+0)




|. If @’ and ‘b’ are the roots of the equation x* - 14x + 11 = 0,
find
IR a AR( b FHFIOT 2% - 14x + 11 = 0F HA § a a® +
b>ATT

c) 218 d) None

_ 26
= 1 %y

\7Y




m a+ E,equalto ?

PRI x> —6x+6=0 H AF &, al a® + 3 +
a+ﬁﬁmﬂ:w%?
A138 c) 128 d) 124

Xtp= 6

216-3 66+ 36-12 + 6
p= 6

= 10842029




3. If a and B are the roots of the quadratic equation ax2 + bx + c =0,

LA S L=31t2=0

then the value of — + — is:
ﬂ « P=2  Q@el, b=-3,¢c=2
IR GHIHIT ax? +bx+c-0ﬂ€ﬂﬂ'a3ﬁ13%?ﬂ'—+ﬁ—?ﬂ
AT ATT I
a) 3bc—a3 /3abc— b3 C) 3abc+b3 d) ab — b?%c
b2c a’c a’c 2b%¢

2oboy2 @ oo XAR
7 C 0([3

- a




u.If « and B are the roots of equation x2 —x+1 =0, then which
equation will have roots a3and 37

aﬁa?rmpavﬁamrxz—;+1=0a:a§r%,aﬁra°rmhww
F Jq o qur 3 grr?

/x2+2x+1=0 b)x2 —2x—1=0

Jx’+3x—-1=0 d)x>2-3x+1=0

; 3

X+ R= ) 1+ Se = > - .o _
& W42 t|=0 e~°<+(3 = 13=-2

Qqsg‘ PO 2__{)(%133 - l
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5. o and B are the roots of the quadratic equation x2—x-1=0
what is the value of a® + B8?
a d4T B gfaEra AT 22 —x—1=0 F HA 8| of +pE T
HIT 4T 872
47 b) 54 c) 59 d) 68

SSCCGL T2, 21 Feb 2018 8



6. If a and B are the roots of equation x> — 2x + 4 = 0, then what is the

equation whose roots are ;—z and ﬁ—z?
I adaTp WHFOT x2 —2x+4 =0 F HA § df 9§ FHIOT FAT
¥ ows Ao B o
Ha'—4x+8=0 b)x* —32x4+4=0
HAx*—2x+4=0 d)x*—16x+4=0

. LIPS

= L Sol-= .‘i.i+__°°_= Lt B2 R,
_ 2 Z 2 -

P 2 2 2 :—’S

O - (AR ) L PR B g
L kG
B HXQZ:{E‘\)—-\G-Z

Z 9
| RRB JE 27 May 2019 S1 |




OL % 7.1f a and b are the roots of the equation
Gtb= (o= 'f';' px* — gx +1r = 0, then what is the value
y

of (@) + () + () + ()

- 207
-Zf:ii IfE a AT b FHSIOT px? —gx+1 =0

- P 2
iy 4 ot A (1) (1) () + ()
(2 AT FT 872 7 2 —
"'2 - /\ (A 2
Ci : T 1 LPY a) (q*-2p)(2r+p) Q.;—l?)_ 4 a tb
P oy pr? B~ ab
7 b) (q2_2p:)(r+p) Q—=I, b:_'L
p*r N
= (‘1?12?\?)&\ I > o) (¢*-2pr)(2r+2p) =342 <0
34 P=1q=3 |
Pf;\-Y\:__ (o Zz:z)(mp) ARENEY
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Qb= b , b= C 2 If 2 and b are roots of the equation
a o ax” + bx + ¢ = 0, then which equation
CwiII have roots (ab + a + b) and

Sof= Qb+t a+b +ab-a-b = Q00O=2=(ab—a — b)?

2 5 B
PoR= [o\b+(a+b)] l:ab'@rb)}f b-g@’zﬁa;a %m %t: m ax* + bx a;r ;\_:r

=C"_b~ (ab+a+b) AU (ab —a — b)§A?
0\2 A X) a’x? + 2acx+c*+b* =0
7(_2"_'2_c__,l_|_ C’L_bl - c_%_bL M a?x? —2acx+c* —b? =0
a oz =9 ar Xa’x’-2acx+c?+b*=0
<) T Wa’x® +2acx +c* - b* =0




sum of the squares\of their reciprocals, then which of the following is a

possible value o‘
mwmhw:c+ax+1_0a:na’ra:rsng TREIRFT &

T F T R A AT A @ FT ala FoawT AW
gram?
a)-1 b) 2 % d) None of these

9 . If the sum of them@of the equation x? + ax + 1 = 0 is equal to the

$4B= | )\ o A= = -
'I']?> W2 T a= I -
< ﬁ’ 3 a?. O(F"- |
S e = X4p P;&“i_o
2. dK=
&‘3 SAR-_\\

| | 12



lo. If a and B are the roots of quadratic
equation. If a + =8 and a— B =

¥+ P 8 &-p= 2[5

2 —Z_ 2 . .
«P:(g(ﬂ’,)_(,(_';) '(2_"‘3___ 64-22=U2 245, -then. which of th;e follozvmg

VI 252 equation will have roots a* and 3*?
=‘=‘:9°=\| ML o YT B fdura wHiwIr & He

g a+B =8aU a—B=2V5 ¥

Sof= g(u-”&(f = L{Z”-“lll = 1522 g-:m'a;:g:j{uf; 7 ) 7
PoR= o p! = 1142 ueul A x% — 1522x + 14641 = 0
b) x% + 1921x + 14641 =0
| 76U c) x> —1764x + 14641 = 0
-2

d) x* + 2520x + 14641 =0

| SSCCGL T2, 21 Feb 2018 | 13



8x2—3x+27=0 then the value of
1 1

arp | R o3pt () (5) s
3 3 I a AR B AT 8x? — 3x + 27 =

lf. If @ and B are roots of quadratic equation

0 ¥ & ¥ ar (%Z)EJF(%Z)E FT A
k ks 2 ﬂ?ﬁl 1 7
e 3% “_1 a) = E c)2 d)a
2 gxg Y 3 ﬂz} 2
2 {+pg= 2 , p=27
8 3




< AX 2. If c2>ne root of the equatio_n
? ax“ + bx +¢c =0 is
2 = _b 2= Q double the other root, then,
" o IR FHAFIOT ax® + bx +
c = 0 & Th AA qaX AqA
¥ gEreT 7 ar
.2 a) b> = 9ac
2 b) 2b* = 3ac

1 2x42=0 b =2a

/sz = 9ac

4= \, b: -—2} C’Q




20( 5 13, If 2one root of t!1e equation
J ax* +bx+c =0 is two and a

2 C half times the others, then
T« = -'lD_ [0 = = which of the following is TRUE?
Qo O Ife FHFIOT ax? + bx + ¢ =
, 0 &1 TH A g}[ ¥ s om
b _ C g, ar : #H A &
v NP q1 dcT g7
\Ma:l\ (0\&\ a) 7bi = 3ca
<) LA b) 7b* = 4ca
b =Uac c) 7b%* = 36¢ca

)/mez = 49ca

| SSC CGL T2, 20 Feb 2018 | 16



Iy. The positive value of m for which the roots of equation 12x>’+mx+5=0
areinratio 3: 2 is:

m F YAcHE A @ foaw FHlFor 12x° + mx+5=0 & AA
3:2 3T H ¢

éﬁ%J_ b) -2 o -5vi0 )2
3,20

17



5. If the difference between the roots of

o-2, «+2- fthe difference &  root
e equation Ax“* —Bx+ C =0 is 4,
QDQ;E 0(%_(,1_; _C___ then which of the following is TRUE?
A A afy FHFOr Ax2 - Bx+C=0 &
HAl # IHaT 4 3, o Fafaf@a
T T F ?
9 B Cyy_qup mmm
VA*’ A = #] B> — 16A% = 4AC + 4b
51 B% — 104% = 4AC + 64*
<) \’52: \6A7'-MA(, c)BZ2 8A22—4AC+10A22
d) B2 — 16A4% = 4AC + 8B
0O 2
o L-Ux =0
A:| ) %:’\ﬁ' (:D]

| SSCCGL T2, 21 Feb 2018 | 18



16. In solving a problem, one student makes a mistake in the coefficient of the first
degree term and obtains -9 and -1 for the roots. Another student makes a
mistake in the constant term of the equation and obtains 8 and 2 for the roots.

The correct equation was

TF FATAT H § FA H, UH OF TS Old & UG & qNa A A FT 8
3 7 -9 3 -1 UrcT FAT ¥l TH HFT B Y FHNBWOT A 3R 9g F It
gieh ¥ 3k 7@ 8 3R 2 weq Far ¥ W wHET °T 2

a)x>’+10x+9=0 b) x> +10x—-9=0
Xx*—10x+9=0 d) None of these
2
= A
AxXthx+C( =0 02 b % +C = o
v X Vv v v
X

PoR= 9 Sof=10

19
| NDA 19 Apr 2015 |



I7. When the roots of the quadratic equation ax® + bx + ¢ = 0 are
negative of reciprocals of each other, then which one of the
following is correct?

S gfaurd FHIFIT ax? +bx+c=0%F AT TH Q'T
Wé?m% ar BT & O P @ @

a)b 0 b)c=0 cJa=c a=—c
0/7——1- PoQ:- Xx -

. <
-|

I
o In

e

| | 20



13- If @ and B are the roots of the equation x> — 3kx + k? = O find k if
at+p=1

afy a3 amT x*—3kx+k*=0% A § 3R a? +
p2=1 %@k AT W |
= b)% c)—% d) none of these

opz 2K, AP K

[y




. For what value of p, the sum of the cubes of the roots of the equation
2x*- 5x + p = 1bezero?
pF W A & AT, IR 2x°-5x + p = 1 F AT &
A & SIS AT F AT FIaT

)? b)? /ﬁz—: d)None Wi «, (3 be ywis.
0(1'%:5 q/lg=_ﬁ 2
P~ k¥ 2 L34 B= 0
=) 5 _2p.8 -,
e 2 2
S 2Ep . pes
M- -y
3 p=25
[

2



20.The equation whose roots are
et Yois be 4, B kit ° e .

cLodgpe2 , AP Y x?—2x+4=0,is
gHIAIOT S #qd, FHIRIr
s0 ka%w(umdeam.btl"‘,zﬁ- ¥ -2x+4=0 & qF ¥ &
/

IS QQ’("‘"’):M a)x’—2x+4=0
7 b)x?—2x+16 =0
OQ: Ul 2 = 16 c)x’?—4x+8=0

/S’xz —4x+16=0
oo Eans -Ux +16=0

HTET TGT 2018



21. If oneroot of (a? — 5a + 3)x? + (3a — 1)x + 2 = 0 is twice the other,
@ then what is the value of ‘a’?
g (a> —5a+3)x* + (Ba—-1x+2=0F TH Hd WX &
Qe[ ¥, °f ‘@’ T AT w4 §?
2

2 1 1
V& LA 93
tt vyoots be &, Ad.

= 320:= -0 ) 7{0(1: /i
a=Sa+% a=Sa+d

E‘i%dh"\a e value of«™ frewn bodh e k.
Q"3a')L ' ) H.g,afz:.&z, -_:de{q;&— +a1

q@’:sw&)f'W D  2¥qa =26

':3 Q= Z:

3

|



22 . If sin@ and cos0 are the roots of the equation ax“ — bx + ¢ = 0, then
which one of the following is correct ?

I sind 3R cos® FHAFIOT ax? —bx +c = 0% HeA §, af o=

AT -wradr g ?
e a)a’+b?>+2ac=0 %az—b2+2ac=0
50 cJa’?+c*>+2ab=0 d)a? —b?>—-2ac=0
Sine + h6 = % LS'\V\‘B‘\'“’ > -
Sin 9t (9=
Pok = $ind . (a9 Y \U/
2
b _2ceo
a o o

S b-aac=0a%

NDA 14 Nov 2021
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2%. If the equations x> + 2x —3 = 0and x?> + 3x — k = 0 have a

common root then the non zero value of kis:
gfe FHAIOT x% + 2x — 3 = 03 x2 + 3x — k = 0 &T TH A

HA & @ kF IR qGT A &8 -4
a)1 b) 2 )3 414
-2 <’5\7 Sok=-2
-2 ! 1—>0
Po K: -"%XD =0
SaR=-3
T 3=\

PoRs ixi< -y

| | 26



2y. If the equations x* + 5x + 6 = 0 and x> + kx + 1 = 0 have a common
root, then what is the value of k ?
Ifg FHRIOT 22 + 5x + 6 = 03 x% + kx + 1 = 0 FT TF HAA
A 8, @ k T AT F4T FHM?
5 10 5 10 10 10
a)—-or—— /}«—or— e Sor—— d)—— or —

3

27
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25. If the equations x* — px + ¢ = 0 and x> + gx — p = 0 have a common
root, then which one of the following is correct ?
I FAFIOT 22 < px+q=03HR x> + qx —p = OF TH HqA
A g A AT N A FlT -amadr g ?
aljp—q=0 b)p+q—-2=0

A —q-1=0
/8—/ Fx “'7/-’—/1/{‘“170? =0

e 2o

-—
-

\ ’\'7: P:Q

CDS 14 Feb 2016 28



26. What is the value of a(a # 0) for which x* — 5x + a and x* — 7x + 2«

have a common factor?
a(a # 0) FT AT FAT g1, X 22 —5x+ a3 x2 - 7x + 2a &
THh ATA IUTES & ?
6 b) 4 c)3 d) 2
12!927'

(= 2x+2 = @-‘) =0 A=
2 » =<
W-60+ 8—-@—\4) 40 2
A" 5 s
q_ e
=) X .3 =\ o/

29
| CDS 19 Nov 2017 |



27. What are the values of x in the equation 4* — 3 - 272 + 32 = 0?
FHIHIOT 4% —3.2%72 132 =0, H x & AT FAT 87
a)1,2 )34 ¥ o /2,3 d)1,3

&2
DU ofiins (26
D (@)= 2.4.27432=0
2
5 (@) -122°432=0 0 AL N
st .

2
=) £ -12¢ -\-'S/’i:,o 7" .2’:=2Vn+3




1 1
23- Solve the equationforx,2-x3 +2-x 3=5

1 1 .
2-x3+2-x3=5¢ dl x & AT AT H:

1 1 1 1
a)2,; b) 4, )6, /8,5

)

2‘%3'1' 2'_,_.;5
|

31
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